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e Please check that this question paper contains 15 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :
(1) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iii)) Question Nos. 1 -4 and 13 - 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Question Nos. 5§ -6 and 17 - 18 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Question Nos. 7 -9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

(vi) Question Nos. 10 - 12 and 22 - 24 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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Which of the following is an example of implicit cost ? (Choose the
correct alternative)

(a) Wages paid

(b)  Cost of Raw material

(c) Interest on owner’s capital
(d)  None of the above

2. feumu e # XY, 3R XY, o ot fafte smmafy Ty ok Ty § 3cured
TUTEET I%h & | A 3 Ay A Ty 3R Ty, FHAERY T aTEafae 3cdied g |
P, 3R Py 30T T 3R T, ToaTEte § Guifad 3cdted & |
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(F) Py Ay

(@) A1¥ A

(M) Ag¥ A

(7) P1¥E Py

AT
Ife @ e A (MOC) g, A 3cUTed 9T a6 (PPC)

Ta-fog & e g | (e T A gfd i)

In the given figure X;Y; and X5Y9 are Production Possibility Curves in
two different time periods T and Ty respectively. A; and Ay represent
actual outputs in T and Ty periods respectively. Py and Py are potential
outputs in Ty and Ty periods respectively.

Good Y

0)

The change in potential production over the two periods would be

represented by a shift from . (Choose the correct alternative)
(a) PytoAy
(b) Al to A2
(o0 AgtoAy
(d PytoPy
OR
A Production Possibility Curve (PPC) would be convex to the origin, if
Marginal Opportunity Cost (MOC) is . (Fill up the blank)
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State any two examples of variable cost.
OR

State any two examples of fixed cost.

4.  Afe duiq Imm I, X781 & HIK 7, d1 9% Sl HEd Ei
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If the Marginal Revenue curve is parallel to the X-axis, the price of the

(
(
(
(

commodity would be . (Choose the correct alternative)

(a)  Equal to Marginal Revenue
(b)  More than Marginal Revenue
(c) Zero

(d) Less than Marginal Revenue

5. ‘“afc gEmedi & dehfcuess TN A B, A1 GETEHET & € i THET 39T T8l
Bhft | U qehl o STMYUR T HH T qHA AT T HIfT | 3

AT

ThNIcHS AT 9 e AAIMET & Y I IUI® IgEN Afgd &g o
== IR | 3

“Problem of resource allocation would not arise, if resources do not have
alternative uses.” Defend or refute the statement with valid arguments.

OR

Discuss briefly the meaning of positive economics and normative
economics, with suitable examples.
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Explain the law of diminishing marginal utility, using a suitable
diagram or a schedule.

7. HM AT T U A STER § T a%g X 9 A0 SR G 956 @
Qq = 2200 — 3p, TN

Q. = 1800 + 2p

& X I T hiFd a6 T HHAT o Hodl ol 3The hitg |
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Suppose the demand and supply curves of a commodity X, in a perfectly

competitive market are given as :

Qq = 2200 — 3p, and

Qg = 1800 + 2p

Estimate the values of equilibrium price and equilibrium quantity of the
commodity X.

OR

The market for a commodity is in equilibrium. The supply of the
commodity decreases, without any corresponding change in the demand
for the commodity.

Discuss, using diagram, the impact of the given change on the

equilibrium price and equilibrium quantity of the commodity.
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Note : The following question is for the Visually Impaired Candidates only, in
lieu of Q. No. 7 (Alternative) :

Teh I&] 1 SR G H g | 9&g sl 7§ fopet ot qitadq & fom, awg
gfd & s & STt 7 |

a&q ! TqeM %md ad Fged " R/, fgu T afEds % wvE H ==
I | 4

The market for a commodity is in equilibrium. The supply of the

commodity decreases, without any corresponding change in the demand
for the commodity.

Discuss the impact of the given change on the equilibrium price and
equilibrium quantity of the commodity.

8. T 5 9 SIS hl hiFd T, Teh Ul fohell I sl 40 IHISAT hT Hidl o |
HiT H HHG Aq= I ()2 T w7 | Afg awg H Fma 7 20% @
Ff B 2, A a8 a&g H Fopat gergAl A w2 4
At a price of ¥ 5 per unit, a consumer buys 40 units of a commodity. The

coefficient of price elasticity of demand is given as (—)2. How many units

of the commodity will she buy if the price is reduced by 20% ?

9.  ITUHE HHIG AN sk ‘U-3ThR okl &1 il & ? 4
e
qfcd’ TR g s AET § AR T FHINT | 4

Why is the short-run marginal cost curve ‘U-shaped’ ?

OR

Distinguish between ‘Supply’ and ‘Quantity Supplied’.
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Explain the following features of the monopoly market :
(a)  Restriction to Entry

(b) Price Discrimination

11. T I oh Fd AAhA hl FT 37 g ? 3dh AN & o fohral Gl BRI i
&g # ==t HIf | 6

What is meant by diminishing returns to a factor ? Discuss briefly, any

two reasons behind its operation.

12. (%) SHRME g5k 6 Ygurdr w1 gl 7 ?

(@) UH fodomsiial Iudieral e ql a&gell, a&q X 3R a%g Y &1 394
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(a)  What is the slope of an Indifference curve ?

(b) A rational consumer is consuming only two goods, Good X and
Good Y. The prices of the goods are ¥ 20 and ¥ 10 respectively.

Her total money income is ¥ 200. Answer the following questions,
using the given information :

) State her Budget line equation.

(i1))  State the slope of the Budget line of the consumer.

(iii) If she decides to spend her entire income on Good Y, how
many units of Good Y can she buy ?

OR

Discuss the law of equi-marginal utility.

Qug
(Tmfte srefvTe)
SECTION B
(MACROECONOMICS)
13. TR SR # fefdafed & @ - e defima wiftd g 2 1
(%) TR
(@) = ieq
(M) X fafies (st wradt) =tk aredeiie &9 & 30hE (PSU) & IR
i fersht
(") HrdSteh & @ IUshH (PSU) & T ATy
Jrra

- 3T o fohral 2l 3TN bl 3E hilNTT | 1

Which of the following is a capital receipt in the Government Budget ?
(a)  Income tax
(b)  Interest receipt

(c) Sale of shares of a Public Sector Undertaking (PSU) to X Limited
(Private Company)

(d) Dividends from a Public Sector Undertaking (PSU)
OR

State any two examples of non-tax revenue.
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If legal reserve ratio is 20%, the value of money multiplier would
be . (Choose the correct alternative)
(a) 2
(b) 3
(c) 5
d 4

15. IR U Iy # forell srefeuasen #§ whR i SFHIHG WIftaal STgHIHG =5 9
9 3, d S9¢ Fore hearal & | (Taw Tom &t qfid ifw)

If in an economy, the Estimated Receipts of the government during a
year are lesser than the Estimated Expenditure, the budget would be
called budget. (Fill up the blank)

16. WYTHes SHTE T I & 2

What are primary deposits ?
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(i) 9 U9

(i)  3f<Es SUST

Discuss briefly the relationship between marginal propensity to save

and investment multiplier, using a hypothetical numerical example.

OR

State the meaning of the following :
1) Full employment

(ii))  Involuntary unemployment

GURSH 3 1 9UH shifo, Afe Teh tefeasen # fFanfead s=a feifsa few
T 3feres & | 3

Describe the adjustment mechanism, if in an economy the planned

savings are more than the planned investments.

warsy for ffafigd s @87 8 19a1 7077 | 394 IR 1 RO 4igd gHq
HIT | 2,2

(%) HAUH I H fUHarsti 1 0 FH B TH THE ITHT B0 ¢ |

(@) o awer fafia e ot fou U = 1 9ga e § Eed gt g, al
TR w1e H gig Bl B |
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State whether the following statements are true or false. Support your
answer with reason.

(a) Taxation is an effective tool to reduce the inequalities of income.

(b)  Revenue deficit increases when government fails to recover loans
forwarded to different nations.

20. oo @ yra fee wem 3 aun fea el 9 3t e Fifv | 4
AT
‘T-fges fafma’ @ g 8 2 Sugea 3eTeT g == Shif | 4

Distinguish between net factor income from abroad and net exports.
OR

What are ‘non-monetary exchanges’ ? Discuss with suitable example.

21. 4 % % HHTRGA HET I GHIST ; 4
(i) i 1 Sh
(i) g1 Sehdl o1 ATIHR
Explain the following functions of the Central Bank :
(1) Banker’s bank

(i1)  Authority of currency issue

22. fafafea & =19 foifEw - 2, 2 2
()  Tor facsh fafma o
(i) IR Irfemy

(iii) THSH A9
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State the meaning of the following :
(1) Fixed Foreign Exchange Rate
(i1))  Trade Surplus

(iii)) Accommodating Transactions

23. U I1AIGEAT ] S5 hoAd [T T B :

S=-25+025Y.
Ffe FRa Femr T 200 U g, @ FefaRaa i oM i 6
(i)  STTawdT H 7 1 Fge &l |
(i) 3™ F T 500 HUS % & I GHY AT |
The saving function of an economy is given as :
S=-25+025Y.
If the planned investment is ¥ 200 crores, calculate the following :

(1) Equilibrium level of income in the economy.

(i1))  Aggregate demand at income of ¥ 500 crores.

24. (%) gl TUAT T FHET U F1 A § ? IO SAE o 0T G GIERIVIT h
&Y 4 T=i hifo |

(@) ISiTa aEgeti’ @i giwTiva i | 5, 1

AT
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feu Mo frfafaga st 9, TaTed ey qur Taa fEa & qeal @
TUMET ShifTe

%.9. forem (7 ;f;g 3
@) |7l a9 2,400
(i) | TS T 4,200
i) | e fia ?
Gv) | forcet & wred g |red e 200
(v) | St =ief ot fomior 1,100
i) | -FEnfsa i ffda em 400

(vii) | Toft srferm Swwi =0 2,000

(viii) | g FTTIH =T 150
(ix) | SETE AR ?
(x) | FHR Sfam g9 =5 1,000
(xi) | FEOR St b1 SweAm 100

(xii) | ™ 500
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(a)  What is meant by the problem of double counting ? Discuss briefly
the two approaches to avoid this problem.

(b)  Define ‘Capital goods’.

OR
Given the following data, find the values of ‘Operating Surplus’ and ‘Net
Exports’ :
S. No. Particulars : Amount
(in < crores)
(i) | Wages and Salaries 2,400
(11) National Income 4,200
(iii) | Net Exports ?
(iv) | Net Factor Income from Abroad 200
(v) | Gross Domestic Capital Formation 1,100
(vi) | Mixed Income of Self-Employed 400
(vii) | Private Final Consumption Expenditure 2,000
(viii) | Net Indirect Taxes 150
(ix) | Operating Surplus ?
(x) | Government Final Consumption Expenditure 1,000
(xi) | Consumption of Fixed Capital 100
(xii) | Profits 500
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